	-S TERM 11/01/09 TO 10/31/10			
WAR	RRIOR			
NO.	DESCRIPTION *	BASIS OF *	ART & PRINT, INC.	
	*	AWARD *	Washington, IL	
	*	*	UNIT RATE	COST
ELEC	CTRONIC PREPRESS *	*		\$0.00
Trim/	/Page-size unitper trim/page-size uit*	112 *	\$3.00	\$336.00
	cal content proofsper trim/page-size unit*	112 *	\$5.00	\$560.00
PRIN	NTING AND BINDING: *	*		\$0.00
Print	ting in black inkper trim/page-size unit*	*		\$0.00
Make	eready and/or Setup*	112 *	\$42.80	\$4,793.60
Runn	ning Per 1000 Copies*	140 *	\$66.00	\$9,240.00
PAPE	ER: *	*		\$0.00
White	te Offset Book (75 g/m² (50-lb.))Per 1000 leaves*	70 *	\$7.60	\$532.00
	ITIONAL OPERATIONS: *	*		\$0.00
	ct print addresses on single copiesper 1000 addresses *	15 *		\$195.00
	newsletter from 8-1/2 X 11" to 8-1/2 X 5-1/2".per 1000 copies $*$	15 *	NO CHARGE	\$0.00
	·O-Matic or similar sealingper 1000 copies*	45 *	\$18.00	\$810.00
Packi	ing and sealing containersper container*	30 *	\$1.20	\$36.00
AUTI	* HOR'S ALTERATIONS:	*		\$0.00
Autho	or's Alterationsper line*	12 *	\$0.50	\$6.00
	*	*		\$0.00
	*	*		\$0.00
	CONTRACTOR TOTALS *	*		\$16,508.60
	DISCOUNT *	*	2.00%	\$330.17
	DISCOUNTED TOTALS *	*		\$16,178.43
	DISCOUNTED TOTALS *	^		\$1

								$\overline{}$
								-
								+
CLARK COUNTY GRP		*	CREATIVE DESIGN		*	DIGITIZING AMER.		*
Las Vegas, NV		*	Pleasantville, NJ		*	Royal Oak, MI		*
UNIT RATE	COST	*	UNIT RATE	COST	*	UNIT RATE	COST	*
	\$0.00	*		\$0.00	*		\$0.00	*
\$15.00	\$1,680.00	*	NO CHARGE	\$0.00	*	\$25.00	\$2,800.00	*
\$5.00	\$560.00	*	NO CHARGE	\$0.00	*	\$25.00	\$2,800.00	*
'	\$0.00	*		\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
\$20.00	\$2,240.00	*	\$92.79	\$10,392.48	*	\$50.00	\$5,600.00	*
\$25.00	\$3,500.00	*	\$324.78	\$45,469.20	*	\$62.00	\$8,680.00	*
·	\$0.00	*	·	\$0.00	*	·	\$0.00	*
\$30.00	\$2,100.00	*	\$77.33	\$5,413.10	*	\$35.00	\$2,450.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
\$150.00	\$2,250.00	*	NO CHARGE	\$0.00	*	\$18.50	\$277.50	*
\$40.00	\$600.00	*	\$162.39	\$2,435.85	*	\$72.60	\$1,089.00	*
\$150.00	\$6,750.00	*	\$77.33	\$3,479.85	*	\$14.87	\$669.15	ķ
\$20.00	\$600.00	*	\$46.39	\$1,391.70	*	\$30.00	\$900.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
\$5.00	\$60.00	*	NO CHARGE	\$0.00	*	NO CHARGE	\$0.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*		\$0.00	k
	\$20,340.00	*		\$68,582.18	*		\$25,265.65	*
2.00%	\$406.80	*	0.00%	\$0.00	*	0.00%	\$0.00	*
	\$19,933.20	*		\$68,582.18	*		\$25,265.65	*
								I

		T						$\overline{}$
								_
								_
						N. C. DEPER A GOLIG ING		 -
WBC Inc./dba LITHEXCEL			PROFESSIONAL PRINTERS		*	V.G. REED & SONS, INC.		*
Albuquerque, NM		*	W. Columbia, SC		*	Louisville, KY		*
UNIT RATE	COSI	*	UNIT RATE	COST	*	UNIT RATE	COST	*
	ψ0.00	*		ψ0.00	*		\$0.00	_
\$2.00	Ψ224.00	*	\$2.05	ΨΔΔ3.00	*	\$1.89	\$211.68	
\$5.00	\$560.00 *	*	\$2.05	\$229.60	*	\$1.42	\$159.04	*
	\$0.00	*		\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*		\$0.00	*
\$18.00	\$2,016.00 *	*	\$55.00	\$6,160.00	*	\$13.64	\$1,527.68	*
\$9.00	\$1,260.00 *	*	\$19.50	\$2,730.00	*	\$10.99	\$1,538.60	*
		*			*		\$0.00	_
\$11.00	\$770.00 *	*	\$8.58		*	\$10.48	\$733.60	
	\$0.00 *	*		\$0.00	*		\$0.00	*
\$17.00	\$255.00 *	*	\$28.00		*	\$28.42	\$426.30	*
\$35.00		*	\$10.20		*	\$16.42	\$246.30	_
\$20.00		*	\$16.25		*	\$21.35	\$960.75	
\$1.50		*	\$1.95	\$58.50	*	\$1.00	\$30.00	
·		*	,	· · · · · · · · · · · · · · · · · · ·	*		\$0.00	_
\$5.00		*	\$4.95	· · · · · · · · · · · · · · · · · · ·	*	\$2.00	\$24.00	
		*	1		*	, , , ,	\$0.00	_
	'	*			*		\$0.00	
		*			*		\$5,857.95	_
1.00%		*	0.00%		*	5.00%	\$292.90	
1.0070		*	0.0070		*	0.0070	\$5,565.05	*
	ψ0,010.00			Ψ11,011.00			ψυ,υυυ.υυ	+
							AWARDED	

		*			
GPO ESTIMATE		*			
UNIT RATE	COST	*			
	\$0.00	*			
\$7.25	\$812.00				
\$7.25	\$812.00	*			
	\$0.00	*			
	\$0.00	*			
\$33.24	\$3,722.88	*			
\$32.08	\$4,491.20				
	\$0.00				
	\$0.00				
	\$0.00				
\$42.49	\$637.35				
\$53.00	\$795.00				
\$40.08	\$1,803.60				
\$9.28	\$278.40				
	\$0.00	*			
\$2.10	\$25.20				
	\$0.00				
	\$0.00				
	\$13,377.63				
5.00%					
	\$12,708.75	*			